HOW TO INSTALL
IGNITION COIL [TCI/CDI} FUII KIT TCI IGNITION [HONDA])
IGNITION METHOD TCI (Transistor Controlled Igniter) CDI (Capacitor Discharge Igniter) | IGNITION COIL Connect the ECM (ignition signal) side cord to the green terminal of the two ignition coil terminals.
CODE ( RED ) 754-9011020 ( BLACK) 754-9011050 | ( RED ) 754-9011120 ( BLACK) 754-9011150 Y FOR BODY SIDE IGNITION COIL FOR BODY SIDE IGNITION COIL
APPLICATION | -2 y\a (JC61 ~ 92) Honda single cylinder 12V CDI ignition and normal : :; <= IGNITION|BHACK  ex+black/white)colorline | GREEN  ex-+{pink/blue)color line
SUPERCUBC125  (JAS8/71) ACGenerator type vehicles (Monkey,Ape,etc.) |r[ = COIL SIDE @: @]:
MONKEY /GORILLA -. ~ _ ~
SUPERCUB110  (JA44/59) e 00001~ /ABZT-1000001 ——body [ ;
CROSS CUB 110 = CDIIGNITION [HONDA
etc (JA45/60) MONKEY BAJA ground CDI FOR BODY SIDE IGNITION COIL
: APE 50 (AC16-1000001 ~ 1599999) ignition onl IGNITION BLACK  ex.+(black/yellow)color line
XR50 MOTARD (AD14) COIL SIDE @]: E (BODY EARTH)
APE 100/-D (HC07/13)
XR100 MOTARD (HD13) = @ Install the ignition coil in a place where it will not interfere with driving.
XRS0R/CRFS0F  (AE03) PLUG CAP @ Cut the high tension cord to an appropriate length and screw it into the ignition coil
ATTENTION! |For single-cylinder vehicles with TCl ignition system. For single-cylinder vehicles with CDI ignition system. and plug cap.
Thank you for purchasing Kitaco product. Read and understand the instruction before installing. IGNITION PLUG % Be sure to allow plenty of room for the length of the product, and do not install the
roduct taut. Also, be careful not to remove it while driving.
— ATTENTION (MUST READ) L . 9
oThi ) ) . ! ) . . @ After assembly, check that the engine starts up normally.
is part increases the spark of the spark plug and is expected to improve power output and pickup. It is also suitable as a repair part. ! . . N N )
@ The driver is solely responsible for any damage to this product or related parts due to improper assembly, and we assume no responsibility for any @ When connecting the hlgh'ten5|on cord in the middle, use Self'bondmg tape for
accidents that may result. high pressure for complete waterproofing and wrap it around the cord before
@ When sparking the plug outside the cylinder for spark checks, etc., wear insulated gloves because the voltage is extremely high in this area. connecting
@ This paper is intended for those who have basic knowledge of motorcycle maintenance. Do not work on this product if you do not have the skills and . ) . . . . . . . .
knowledge. 4} @ If the high-tension cord interferes with the stay, please install in a different direction
@ When installing the product, please be sure to follow the manufacturer's service manual for each vehicle model. from stock, or use a separate collar to adjust the tensioner.
Features of Ignition Coil MOUNTING EXAMPLE

This ignition coil increases the discharge voltage compared to the stock coil, and is expected to improve power

output, response, and fuel economy. TCl MONKEY/GORILLA (CDI)

PACKING LIST TCI | CDI STOCKIG COIL STAY R BOBY IOt IGNTON COL STOCK IG COIL STAY
NAME CODE QryY REMARKS +(blacklyellow)color I
IGNITION COIL TCI 500mm with a code - 4 | - |BLACK/RED ac ye owlcolortine é @
IGNITION COIL CDI 500mm with a code - - x1 |BLACK/RED )
WASHER 6x13x1.0mm 0900-090-02004 | x4 | x4 |ADJUSTABLE ﬂq v f =
CAP BOLT M5x15 050-0500015 - x1 I CONNECT TO PLUG CAP
CAP BOLT M6x18 0600500018 | - | x1 WASHER = ﬁuww @
CAP BOLT M6x25 0600500025 | x2 | - Adjustment - @ IS
SPACER COLLAR 11x6.2x5mm 0900-093-00002 | x2 | - Washerlspacen ©.p # > __.
IG COIL STAY MONKEY/APE 754-0500131 _ I SPACER COLLAR Disconnected from the ignition //w
il. C ted to th hicl \Z,
EARTH READ WIRES 755-0900000 - x1 lc)(();c:ly gzzicafnes? (gree\:\) - @ 0
AThe high tension cord on the ignition coil side is not detachable.Removing it may cause APE (CDI)
damage. }
+(black/yellow)color line

Eo——

‘ FOR BODY SIDE IGNITION COIL

PACKING LIST col D @ _

STOCKIG COIL STAY
m GROUND TERMINAL e ;
/

Fig NAME QryY
1 IGNITION COIL CDI x1
IGCOIL STAY  MONKEY/APE x1 -
3 |cApBOLT M5x15 x1 | CONNECT TO PLUG CAP/
4 CAPBOLT M6x18 x1
5 |GROUND LEAD x1

WASHER  6x13x1.0mm (adjutable) | x4

~Z
~N
~— @ R @

Disconnected from the ignition coil.
Connected to the vehicle body side

harness (green)
‘ KITACO

BREX=A =g ]

240617 https://www.kitaco.co.jp/




